Quiz #8 (Time-dependent Schrédinger's Equation)

Oct. 10, 2016

Quantum Mechanics

Prof. Woo-Young Choi

Dept. of Electrical and Electronic Engineering
Yonsei University

Prob. 1(3)

Determine whether each of following expressions can be a solution of time-

dependent Schrodinger equation or not. Give a brief explanation.
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(a) sin {l(kz —;t)}
(b) exp {—i(kx+%t)}+l when V(x) is non-zero.
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Z_t) for 0<x<L
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(c)sin(z—’L’X) exp(—i

Prob. 2(2)

It is known that the solution of the Schrdodinger equation at t=0 for an infinite
barrier potential well having V(x) =0 for 0<x<Lis 1, or
w(x,t=0)=1for 0< x <L. Determine the expression for w(x,t).



